211w-25 Marshmallow Cotton Hooded Baby Blanket
and Doughnut Baby Rattle

Suggested yarn:
* Pierrot Yarns Marshmallow Cotton [100% cotton; 153 yds/140m per 1.06 0z./30g skein]; undyed natural
white, 16 skeins [470g]
* Pierrot Yarns Hidamari [75% cotton, 25% ramie; 82 yds/75m per 1.06 0z./30g skein];
+ color #74 pale mandarin orange, 1 skein [small amount]
+ color #78 pale pink, 1 skein [small amount]
+ color #79 wasabi, 1 skein [small amount]
+ color #80 lavender, 1 skein [small amount]

¢ Tools/Notions:
+4.2mm (approx. US 6) knitting needles or size necessary to achieve gauge
+ 2.5mm (approx. US B or C), 3.0mm (approx. US C or D), and 3.5mm (US E) crochet hooks or sizes
necessary to achieve gauge
+10g9/0.35 oz. polyfiber stuffing
+ 1 plastic bell (15mm/0.59" diameter)

Finished measurements:
* blanket: 90cm/35.43" square
« rattle: refer to schematics

Gauge (10cm/4" square):
+ stockinette stitch: 21 sts and 31 rows
+ single crochet (US): 17 sts and 25 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework
pattern with your own gauge measurements.

----------------------------------------------------------------------------------------------------------

Knitting Tips
Doughnut Rattle: Chain to cast on and work sc (US) in the round. Insert stuffing and plastic bell; whipstitch cast-on and bind-off
edges together. Crochet bobbles and fasten to rattle.

Body of blanket: Cast on with long-tail cast-on method; work in stockinette stitch and pattern stitch.

Hood: Cast on as for body of blanket; work in stockinette stitch. Work edging B along cast-on edge.

Finishing: Place hood and blanket together with wrong sides facing as shown. Seam together by working 1 row of edging.
% Always work Marshmallow Cotton with 2 strands held together. Work Hidamari with a single strand.

Abbreviations:

ch = chain

CO=caston

dc = double crochet (US)
rep = pattern repeat(s)

RS =right side

sc = single crochet (US)
WS = wrong side

#-#-# = rows-stitches-times
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Doughnut rattle
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Body instructions (Marshmallow Cotton, 3.0mm hook)
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Hood (Marshmallow Cotton)
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